English world — 3° grade
Second Exam — First Semester 2016/2017

Read the following passage and then answer the following questions:

A pilot flies a plane. The plane is fast. He wears a helmet. It protects his

head. A pilot's job is exciting.

A. Answer the following" question :

1) What does a pilot fly?

2) Does he wear a helmet?

B. Put (T) or (F):
1. A pilot's job is exciting ( ).

2. A helmet protects his eyes ( ).

Write the missing letters :




Pictorial Composition:

It's big a ...........o.t.

The job of thisman ..................

The pilot should wear a

head.

Re-order words to form sentences:

1. Ahmad - live — We're — to — Amman - in.

.........................................................................................







Choose the correct word:

. This morning, Reem ( want — wanted ) to buy a new necklace.
. Where (is — are ) the Entertainment City?
she ( like — likes ) shopping.

. We ( live — lives ) in Irbid.

Sara is ( go — going )to London.

Match numbers with words:
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Wishes to you
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